| REVISIONS
REV DESCRIPTION DATE APPROVED
ASSEMBLY NOTES: A INITIAL RELEASE 02DEC?2?2 R, SUMAWAN TT11
Al AS PER ECR-117589 230CT23 R, SUMAWAN TT11
1. BOARD ACCEPTABILITY PER ANALOG DEVICES, INC. SPECIFICATION B AS PER ECR-120151 O3MAYZ24 |J. DELOSSANTOS

SEE NOTE 7
(4 PLACES)

TSTO0119 (LATEST REVISION).

REPAIRS PER IPC-7711/21(LATEST REVISION) ARE ALLOWED.
REPAIRS ARE NOT ALLOWED

SIDE OF THE BOARD.

IN SOLDERMASK FREE AREAS ON EITHER

RoHS COMPLIANCE: ASSEMBLY VENDOR SHOULD ASSURE COMPLIANCE
WITH LEAD-FREE AND RoHS PCB ASSEMBLY STANDARDS (EU RoHS
DIRECTIVE 2002/95/EC).

BOARDS TO BE SHIPPED SINGULATED AFTER ASSEMBLY PROCESS.

SMOOTHEN EDGES AND FREE FROM BURS AFTER DEPANELIZATION PROCESS.

INSTALL JUMPER SHUNT(MO033288 ) ON POSITIONS 1
INSTALL STANDOFFS(M0O38858 )

AND 2 OF PS5,
T0O BE MOUNTED ON SECONDARY SIDE .

SEE "DETAIL C" TO
> P3 & P4

INSTALL KFH-032-10ET.

SEE NOTE 8
(2 PLACES)

=
o0
o
i
O#

lc6s k66 c74 k15
C16 C51 52 38
I AY Al Al Al
="y =} 29 30
X63 IC64 72 =13
Cleet sz cro et
13D
RS54
=i
3 R35pe2 P28
£ =3
20 5
& Rrsy
R58C] CIR60 Q
oo

Stt DETAIL A Stk DETAIL B

PRIMARY SIDE

e — =1 ©

DETAIL A

NOT TO SCALE

PCB

SECONDARY SIDE

PRIMARY SIDE

/?;ig

DET

AL B

NOT T

DET

O SCALE

AL C

NOT T

MFG_PN: 4705
NUT, BRASS, #10-32

O SCALE

MFG PN .

PCB

4705

\\\\\SECONDARY SIDE

NUT, BRASS, #10-32

TOP SIDE ~

PCB

BOTTOM SIDE

= MFG PN: 4703
—
= /_}4 WASHER, #10

) MFG PN

913

(CONN TERM LUG LOCKWASHER #10 FLAT)

(.. UNINSULATED )3

OPTIONAL

(AT EDGE OF THE BOARD)

- KFH-032-10ET

STUD, PRESS-FIT,
(PRESS FIT AND SOLDER, THIS SIDE)

MFG PN

(3 PLACES) (11 PLACES)
PRIMARY SIDE
UNLESS OTHERWISE SPECIFIED APPROVAL DATE WWM
DIMENSIONS ARE IN INCHES TEMPLATE ENGINEER DIVISION
TOLERANCES N/ A N/ A 804 WOBURN STREET
PECIUALS | FRACTIONS  AnoLEs Vi Vi 02DEC22 WILMINGTON, MA 01887
XXX +-.005 HARDWARE SYSTEMS
JXXXX +-.0050 N/A N/A TITLE
MATERIAL TNE/STAENGINEER " AS S EMB L Y
D TAMISEN  |ozpEcee L IM4638
N e m CUSTOMER EVALUATION /
HARDWARE RELEASE
K. JABATAN 02DEC22
FINISH N CORDOVA 02DEC22 | SIZE | FSCM NO DRAWING NUMBER REV
F%TD Eg%IuEAESVAN I[T1 0z2DEC22
- wsct) € 12435501-072962 | B
DO NOT SCALE DWG SCALE 1/1 SHEET 1 oF 2




L[ ]
SECONDARY SIDE
PCB
PRIMARY SIDE
DETAIL B

NOT TO SCALE

e
EEEIE
EIEIEIE
+

SEE DETAIL B

SECONDARY SITDE

ANALOG
DEVICES

WWM
DIVISTON

804 WOBURN STREET

WILMINGTON, MA 018

87

C124355 01-0/2967 3
SCALE 1/1 SHEET 2 OF 7




	Art Films
	assy1
	assy2


